JDIETER’S M‘;

Our Reputation Is Stainless!

275 Industrial Road,
Cambridge, Ontario N3H 4R7
Tel. 519-884-8555

Toll Free 800-331-7952

Fax 519-650-3334

panelite.com « dietersaccessories.com
IATF16949 & 1SO14001 REGISTERED SYSTEMS

EXTENDED SUN VISOR
Kenworth T300, T600, T800 Aerocab

INSTALLATION INSTRUCTIONS:

*Note: Removal of interior headliner and use of nuts and washers inside the roof is strongly recommended

if using nut insert see step #2.

1. Mark and drill 12 25/64” diameter holes into roof as per Fig#2.

2. Set nutinserts using supplied insert setting tool and nut-insert installation diagram. Use generous amounts of silicone in

and around nut insert.

Align sunvisor halves and tighten center screws.

Tighten all remaining screws.

N o v kW

Peel off protective plastic coating.

Hardware List

Install brackets as shown in Fig#4. Do not completely tighten.

Fasten sunvisor halves to brackets and roof. Do not completely tighten.

1- Insert Setting Tool

12 -10-32x1/2" truss head screws

14 -"+-20 Locknuts

12 - #10 flat washers

12-"-20 x %" bolts

12 -10-32 locknuts

14 - 4" flat washers

1-tube silicone

2 -1/4” tooth lock washer

2-"%" x %" carriage bolts

13- nutinserts

Page 1 0f 12 IIKW018

12/2018



JDIETER{S‘ M‘;

Our Reputation Is Stainless!

Side “iew Of Cab

275 Industrial Road,
Cambridge, Ontario N3H 4R7
Tel. 519-884-8555

Toll Free 800-331-7952

Fax 519-650-3334

panelite.com « dietersaccessories.com
IATF16949 & 1ISO14001 REGISTERED SYSTEMS

Pg.2 GMX1006

fig.#2
Mew holes for sunvisor 25/64" dia,
Tzt
2-1541E6" ’
—_—————- /7 ————————— o B-1./4"
Surrizor
4-3/4
windzhield Gutter
Rivet line above
driver and
pazsenger doors )
fig #3
/Center clearence light
] I © © kR <
e 2:1.-"4 1BHE O O ,I, 1 O 2::;-'4
T Rubber zeal T
151752 15-1.2"
windzhield

el

* CENTER LINE OF CAB MUST BE ACCURATLEY DETERMINED!

Page 2 of 12 IIKW018

12/2018



Page 3 of 12

o IETER'S Panelite,

Our Reputation Is Stainless!

Center Bracket Assembly

fig.#4A

l—'l A" washer
i— & 14" Mylan Lockaut

214" w142 camiage balts

“indshield

[IKW018

275 Industrial Road,
Cambridge, Ontario N3H 4R7
Tel. 519-884-8555

Toll Free 800-331-7952

Fax 519-650-3334

panelite.com « dietersaccessories.com
IATF16949 & 1ISO14001 REGISTERED SYSTEMS

12/2018



275 Industrial Road,

. ® Cambridge, Ontario N3H 4R7

ame L e Tel. 519-884-8555

)7 Toll Free 800-331-7952
Fax 519-650-3334

. . panelite.com « dietersaccessories.com
Our Reputation Is Stainless! IATF16949 & 1SO14001 REGISTERED SYSTEMS

QOuter Bracket Assembly

fig.#4C

\ Rubber Seal

Windshield
fig #4D
=D
[
C:I__:
[
Rubber Seal [l

15142

Page 4 of 12 IIKW018 12/2018



275 Industrial Road,

. ® Cambridge, Ontario N3H 4R7

ame L e Tel. 519-884-8555

)7 Toll Free 800-331-7952

Fax 519-650-3334

panelite.com « dietersaccessories.com

Our Reputation Is Stainless! IATF16949 & 1SO14001 REGISTERED SYSTEMS

PARE-SOLEIL ALLONGE

Kenworth T300, T600, T800 Aerocab
INSTRUCTIONS D'INSTALLATION:

*Note: Il est fortement recommandé de retirer la garniture intérieure de plafond et d’utiliser les écrous et
rondelles d Uintérieur du toit si vous utilisez les inserts d'écrou (voir étape 2)*
1. Marquez et percez 12 trous de 25/64" de diameétre dans le toit, tel qu’indiqué a 'image 2.
2. Placez lesinserts d'écrou avec l'outil d'installation d’insert fourni, et selon le schéma d’installation d'inserts d'écrou.
Appliquez une quantité généreuse de silicone dans les inserts et autour des inserts.
Installez les supports tel qu'indiqué a 'image 4. Ne serrez pas complétement.
Fixez les moitiés du pare-soleil aux supports et au toit. Ne serrez pas compléetement.
Alignez les moitiés de pare-soleil et serrez les vis du centre.

Serrez toutes les autres vis restantes.

N o okhWw

Retirez a pellicule protectrice en plastique.

Liste de quincaillerie:

1-0utild'installation d'insert 12 - Rondelles plates #10

14 - contre-écrous ¥+-20 12 - contre-écrous 10-32
12-boulons -20 X %" * 1-Tube de silicone

14 - Rondelles plates 4" 2 - Boulons a carrosserie %" X 1/2”
2 - Rondelles de blocage dentelées 4" 13 - Inserts d'écrou

12 - vis a téte bombée 10-32X1/2”

Page 5 of 12 IIKW018 12/2018



275 Industrial Road,

. ® Cambridge, Ontario N3H 4R7

ame L e Tel. 519-884-8555

)7 Toll Free 800-331-7952
Fax 519-650-3334

. . panelite.com « dietersaccessories.com
Our Reputation Is Stainless! IATF16949 & 15014001 REGISTERED SYSTEMS

VUE LATERALE DE LA CABINE

~ IMAGE 2

ouveaux trous pour le pare-soleil diamétre 25/64"

______ 7————————— 5-1/4"
Pare-soleil 4.9/4
Pare-brise Gouttiére
Ligne de rivets au-dessus de
la porte du conducteur et du
passager
/ FEU DE GABARIT DU CENTRE
Oﬂ o O 3“ O_{-
! JOINT DE CAOUTCHOUC T
151/2" 15-1/2"
PARE-BRISE
C

e

* La ligne médiane de la cabine doit étre déterminée avec précision!

Page 6 of 12 IIKW018 12/2018



275 Industrial Road,

. ® Cambridge, Ontario N3H 4R7

a ‘/le L e Tel. 519-884-8555

)7 Toll Free 800-331-7952
Fax 519-650-3334

. . panelite.com « dietersaccessories.com
Our Reputation Is Stainless! IATF16949 & 15014001 REGISTERED SYSTEMS

Assemblage du support central

Image 4A

Rondelle 1/4"
=

Contre-écrou nylon 1/4"

2 boulons a carrosserie 1/4"x 1/2"

Image 4B

—

Joint de caoutchouc —____ ”

R Pare-brise

Page 7 of 12 IIKW018 12/2018



275 Industrial Road,

. ® Cambridge, Ontario N3H 4R7

ame L e Tel. 519-884-8555

)7 Toll Free 800-331-7952

Fax 519-650-3334

. . panelite.com « dietersaccessories.com

Our Reputation Is Stainless! IATF16949 & 15014001 REGISTERED SYSTEMS

Assemblage du support extérieur
IMAGE 4C

\ \ Joint de caoutchouc

Pare-brise

Image 4D

Y

Joint de caoutchouc [I

15-1./2"

Page 8 of 12 IIKW018 12/2018



275 Industrial Road,

. ® Cambridge, Ontario N3H 4R7

ame L e Tel. 519-884-8555

)7 Toll Free 800-331-7952

Fax 519-650-3334

. . panelite.com « dietersaccessories.com
Our Reputation Is Stainless! IATF16949 & 1SO14001 REGISTERED SYSTEMS

VISERA EXTENDIDA
Kenworth T300, T600, T800 Aerocab

INSTRUCCIONES DE INSTALACION:
1. *Nota: Quitar la cubierta interior y el uso de tuercas y arandelas adentro del techo es muy recommendable si se usan
insertos de tuerca vea el paso #2

2. Marquey perfore 12 agujeros de didametro 25/64” en el techo sequn la figua #2.

w

Coloque insertos de tuerca usando la herramiento provista y el diagram de instalacion de nut-serts. Use una cantidad
generosa de silicon adentro y alrededor de los nutserts.

Instale los soportes como se muestra en la figura #4. No apriete completamente.

Sujete las mitades de viseras a los soportes del techo. No apriete completamente.

Alinear las mitades de viseras y apriete los tornillos centrales.

Apriete todos los tornillos que faltan.

© N o U ok

Quite la cubierta plastica protectora.

Liste de quincaillerie:

1-0utild'installation d'insert 12 - Rondelles plates #10

14 - contre-écrous -20 12 - contre-écrous 10-32

12 -boulons -20 X %" 1-Tube de silicone

14 - Rondelles plates 4" 2 - Boulons a carrosserie 4" X 1/2"
2 - Rondelles de blocage dentelées V4" 13 - Inserts d'écrou

12 - vis a téte bombée 10-32X1/2”

Page 9 of 12 IIKW018 12/2018



275 Industrial Road,

. ® Cambridge, Ontario N3H 4R7

ame L e Tel. 519-884-8555

)7 Toll Free 800-331-7952
Fax 519-650-3334

. . panelite.com « dietersaccessories.com
Our Reputation Is Stainless! IATF16949 & 15014001 REGISTERED SYSTEMS

VUE LATERALE DE LA CABINE

~ IMAGE 2

ouveaux trous pour le pare-soleil diamétre 25/64"

______ 7————————— 5-1/4"
Pare-soleil 4.9/4
Pare-brise Gouttiére
Ligne de rivets au-dessus de
la porte du conducteur et du
passager
/ FEU DE GABARIT DU CENTRE
Oﬂ o O 3“ O_{-
! JOINT DE CAOUTCHOUC T
151/2" 15-1/2"
PARE-BRISE
C

e

* La ligne médiane de la cabine doit étre déterminée avec précision!

Page 10 of 12 IIKW018 12/2018



275 Industrial Road,

. ® Cambridge, Ontario N3H 4R7

a ‘/le L e Tel. 519-884-8555

)7 Toll Free 800-331-7952
Fax 519-650-3334

. . panelite.com « dietersaccessories.com
Our Reputation Is Stainless! IATF16949 & 15014001 REGISTERED SYSTEMS

Assemblage du support central

Image 4A

Rondelle 1/4"
=

Contre-écrou nylon 1/4"

2 boulons a carrosserie 1/4"x 1/2"

Image 4B

—

Joint de caoutchouc —____ ”

R Pare-brise

Page 11 of 12 IIKW018 12/2018



275 Industrial Road,

. ® Cambridge, Ontario N3H 4R7

ame L e Tel. 519-884-8555

)7 Toll Free 800-331-7952

Fax 519-650-3334

. . panelite.com « dietersaccessories.com

Our Reputation Is Stainless! IATF16949 & 15014001 REGISTERED SYSTEMS

Assemblage du support extérieur
IMAGE 4C

\ \ Joint de caoutchouc

Pare-brise

Image 4D

Y

Joint de caoutchouc [I

15-1./2"

Page 12 of 12 IIKW018 12/2018



